ER29FENSBHRADHDAEELYELE,

2A28(&) 12H48(R) 1068 (%) 8H3B(K) 6 7B0K) 486H(K)

5| No. HBE e . T . T x —

tom| B38| 07 [1omil] B8 | O3 [1om| 818 | 02 [1oms| 818 | 07 |1omt| 0018 | 0 |1omm| B8 |95

P P o oy P %)

1 |EEaE #E—TE [0.11/0.11/009]|0.12]0.11]{0.09]0.11]0.12]0.10[0.11|0.12|0.10| 0.11] 0.12| 0.10] 0.11] 0.12| 0.10

2 |[AEaE NB&ATE |0.12]011]011]012[0.13[0.11|0.13]|0.13|0.12| 0.12]0.13] 0.12] 0.12| 0.13| 0.13| 0.12| 0.13| 0.13

3 |mmam NB&ATE |008| — [009[008| — [0.09[008| — |0.09]|009| — |0.10{0.09] — [0.10{0.09] — |0.10

4 |hrsE AB&mTE |009]008[0.10{0.10[0.09|0.12|0.10| 0.09]| 0.12] 0.10{ 0.09| 0.12| 0.10| 0.09 | 0.12| 0.10| 0.09| 0.12

ﬁ 5 |—AmnE AB&mTE |0.16]0.14]0.17[0.16[0.14| 0.18| 0.16] 0.15| 0.18] 0.16| 0.15| 0.18| 0.16 | 0.16 | 0.18 | 0.16 | 0.16 | 0.18

6 |BiLamE FxEr  |0.12] — |o12]012| — |012|012| — |0.12]012] — |0.12]0.12] — [0.12[0.12] — |0.12

7 |EeRaE #rEMTE |0.10]0.08]0.10{0.11]0.09]0.10{0.10{ 0.09|0.10| 0.10| 0.09| 0.10| 0.10] 0.09| 0.10{ 0.10| 0.09 | 0.10

8 |Bmam #yE—TH |014]|011]0.11]0.14]0.11]0.12]0.13[ 0.10| 0.12| 0.13| 0.10] 0.12] 0.13] 0.10{ 0.12] 0.13] 0.10 | 0.12

9 |\ tmamE #yE=TH |0.11]009]0.09|0.12]0.10]{0.09[0.11[0.09|0.09|0.11|0.09]| 0.09]| 0.11]0.09]0.09| 0.11] 0.09 | 0.09

10 |2AESBH wRE¥EE (010 — |015|011] — |0.16]0.12| — [0.17[0.13] — [0.17|0.13| — |0.17]0.13| — [0.18

1 [k RE S AT — — — — — —

12 |E 3wt =xE  |0.15| — |0.16[0.16] — [0.19]0.17| — [0.20]0.17| — |0.20]{0.17| — [021[0.17| — |0.21

13 |\t FiEmEn FxEr  |0.12| — |o16[0.12| — |0.16[0.12| — |0.16]0.11| — |0.16]0.11| — [0.16[0.11| — |0.16

14 |BEmit s sl |027| — |0.18]027| — [0.19]027| — |0.19]027| — |0.19]|0.28] — [0.19[0.28| — |0.19

éz; 15 |—&mshponEg | F—4# 012 — [014|013| — |0.16]0.14| — |0.16]0.14] — [0.15[0.14| — [0.15|0.14| — [0.15
i

16 |t@ABRAED | t®AFEm (011 — [010[013] — |011]0.12| — |0.12]0.13] — [0.12|0.13| — [0.12]0.13| — [0.12

17 |t@ABRAE® | £8AFEM (009 — 009|011 — |011]0.13] — |0.11]0.12] — [o.11|0.13] — [0.11] 013 — |0.11

18 | EEABSAELAED | LEATman|012| — [010[013] — |010]0.13| — |o.11]0.13] — [0.12[0.13| — [0.12]013| — [0.12

19 |EEABSELAER | EEATHE#E|0.10] — [0.10[010] — |010]0.11] — 011|011 — [o11|o11| — 011|011 — |0.11

20 |FEAB/MAE | FEATE/M |008| — |008]0.11| — [0.10[0.11| — |0.10|0.10| — |0.11]0.10] — [0.11{0.10| — |0.11

21 | \EEhEE® FhE#E [0.14)012/0.14]0.15]/0.14]0.14]0.16]0.14]0.15] 0.15[ 0.15| 0.15| 0.15| 0.15| 0.15]| 0.15 | 0.15 | 0.15

22 |Rms-ERmEEL | ABSETE | % | — |010] % | — [o.10|0.16| — |0.10| % | — |0.10]0.16] — |0.10]{0.16] — |0.10

% 23 |pozELEsd#E] FRFEE |0.13]0.10[0.15[0.14[0.11[0.15|0.14| 0.11] 0.15 0.14] 0.12| 0.15| 0.14| 0.12[ 0.15| 0.14 | 0.12| 0.16

2 24 |pozzLEs@EwE| #E—-TE |010| — [o11|o11| — [o12|011| — |012]|011| — 012|011 — [012|011| — |0.12

i% 25 |—AwmssmusmEe | T4 |013]0.12]0.13]0.13[0.12[0.13|0.14| 0.12| 0.13| 0.14] 0.12| 0.14| 0.14| 0.12| 0.14| 0.14| 0.12] 0.14

26 |AA@mEES F@za  |011]|010]|0.11]0.11]0.10]0.12]0.11{0.10[0.12|0.11| 0.10| 0.12| 0.11] 0.10| 0.12] 0.11] 0.10 | 0.12

27 |EAEhERS FEATEST|0.11| — |0.10]0.13] — [o.11]0.13| — |0.11]0.13| — |0.11]0.13] — [0.11{0.13| — |o0.11

§ 28 |@AREHAE ®RFER | 0.11]0.09]0.11]0.11[0.09[0.11[0.11[0.09]|0.11|0.11|0.10{ 0.11]0.11]0.10] 0.11 | 0.11] 0.10] 0.11

29 |FHEHLE #HTIH LM [0.10]0.09]0.09[0.10[0.09[0.090.11|0.09]|0.09]0.11]0.09|0.09|0.11|0.09|0.09|0.11|0.09| 0.09

z | 30 |EEBRERGS FEF] 011| — [o10|0.11| — |0.10|0.11| — 010|011 — 011|011 — [o11|0.11| — |0.11

% 31 |BOEESGE) & 0.17| — [o.14|0.18| — |0.15|0.18| — |0.15{0.18| — |0.15]0.18] — |0.15|0.18] — |0.15
&5t

XNo.22 ERFI. [ttt E

# Tom@AIERA U LIZ

¥No.22 BRI~ EEHiEE
# Tem@AIEARIVb LIS

imﬁiﬂ)f:&ﬁ\ BETE EmMEEOLH.METE
o ¥

*—WHEESY
(1em~24cm)

%No.22 ERFT/ btz B
# 1om@BIERAU LIS
EREEENOH. METE
¥




FRL29%F

3A2H(XK) 2RA2HB(XK) 1A12B(XK) 12A58(A) 11A280K)

;3= e piid=} R R
TemE| W15 (T2 |lemE| B (TS5 |1omB| BB (TS50 |lemE| B15 (T2 [1emE| B (TS5

2%) a2%) 2%) a%) 2%)
0.11(0.12(0.10/0.11|0.12|0.10| 0.11] 0.12| 0.10( 0.11{0.12( 0.10| 0.11]| 0.12] 0.10
0.12(0.13(0.13/0.12/0.13]|0.13]|0.12| 0.13| 0.13( 0.12( 0.13| 0.13| 0.12] 0.13 0.13
0.09( — (0.10/0.09| — |0.10|0.09| — |0.10(0.09( — [0.10/0.09| — |0.10
0.10(0.09(0.12|0.10/ 0.09| 0.12]| 0.10| 0.09| 0.12( 0.10( 0.09( 0.12| 0.10]| 0.09| 0.12
0.16(0.16(0.18|0.16| 0.16| 0.18| 0.16| 0.16| 0.18( 0.16 [ 0.16( 0.18| 0.16 0.16| 0.18
012 — (0.12|0.12| — |0.12|012| — |0.12(0.12( — [0.12|0.12] — |0.12
0.10(0.09(0.10(0.10| 0.09| 0.10| 0.10| 0.10| 0.10( 0.10( 0.10( 0.10| 0.10| 0.10| 0.10
0.13(0.10(0.12|0.13/0.10| 0.12]| 0.13] 0.11|0.12(0.13(0.11| 0.12| 0.13] 0.11 ] 0.12
0.11{0.09(0.09/0.11/0.09|0.09|0.11]0.10{ 0.09(0.11{0.10(/ 0.09| 0.11] 0.10| 0.09
013( — (0.18|0.13| — |0.18|0.13| — |[0.18(0.13| — [0.18/0.13| — | 0.18
017( — (0.21|0.17| — |0.21|017| — |0.21|{017( — [0.21(0.17| — |0.21
011f — (017|011 — |0.17|011| — |0.17[0.11| — [0.17|0.11| — |0.17
0.28( — (0.19/0.28| — |0.19|0.28| — |0.19(0.28( — [0.19/0.28| — |0.19
0.14( — (0.15/0.14| — |0.15|0.14| — |0.16(0.14( — [0.16|0.14| — | 0.16
013 — (0.12|0.13| — |0.12|0.13| — |0.12(0.13| — [0.12|0.13| — | 0.12
013 — (0.11|0.13| — |0.12|0.13| — |[0.12(0.13| — [0.12|0.13| — | 0.12
013( — (0.12|0.13| — |0.13]0.13| — |0.13[0.13| — [0.13|0.13| — |0.13
011 — (011|011 — |0.11|011| — | 011|011 — [O.11[0.11| — |0O.11
0.10( — (0.11|0.10| — |0.11|0.10| — |0.11|{0.10( — [0.11[0.10| — | 0.11
0.15(0.15(0.15/0.15/ 0.15| 0.15]| 0.15| 0.15| 0.16 [ 0.15( 0.15( 0.16 | 0.15)| 0.15| 0.16
0.16( — (o0.10/0.16| — |0.10|0.16| — |0.11|{0.16( — [0.11(0.16| — | 0.11
0.14(0.12(0.16| 0.14| 0.12| 0.16| 0.14| 0.12| 0.16 [ 0.14( 0.12| 0.16| 0.14)| 0.12| 0.16
011 — (0.12|0.11| — |0.12|011| — |0.12(0.11| — [0.12|0.11| — |0.12
0.15(0.12(0.14|0.15| 0.12| 0.14]| 0.15] 0.12| 0.14( 0.15( 0.12( 0.14| 0.15]| 0.12| 0.14
0.11(0.10(0.12|0.11]0.10|0.12| 0.11] 0.10| 0.12( 0.11{0.10( 0.12| 0.11] 0.10| 0.12
013 — (0.11|0.13| — |0.11|0.13| — |0.11[{0.13[ — [0.11[0.13| — | 0.11
0.11(0.10(0.11|0.11]0.10|0.11] 0.11] 0.10| 0.12(0.11{0.10(/ 0.12| 0.11] 0.10| 0.12
0.11(0.09(0.09/0.11/ 0.09|0.09|0.11] 0.09|0.09(0.12(0.09(0.09| 0.12]| 0.09 | 0.09
011f — (011|011 — 011|011 — |011|{011[ — [O.11[0.11| — |0.11
0.19( — (0.15/0.19| — |0.15|0.19| — |0.16(0.19( — [0.16/0.19| — | 0.16

X—BEEHY

(1cm~5cm)

X—EHEEHY

(1cm~3cm)




10RA3H(A) 9A5H(A) 8A8H(A) 7TRA6B0K) 6A8R(K) 5A11B0K) 4A8R(&E) 3A280K) 2A3HG

b= b= e e b= b= pi3=} pi3=}
1emB| W15 (TS50 |1ecmB| 15 (TS5 [1emE| B15 (TS5 1cmB| B15 (TS5 |1cmB| 815 |(TS52[1cmB| 15 (TS5 |[1emE| #15 (TS5 |1ecmB| #15 |(TS52|1cmB| 15
a%) %) a%) a%) a%) a%) %) %)

0.11(0.12(0.10{0.11]0.12|0.10|0.11] 0.12| 0.10( 0.11(0.13(0.10/ 0.11] 0.13] 0.10| 0.11] 0.13| 0.10( 0.11{ 0.13( 0.10{ 0.11| 0.13]| 0.10] 0.09 | 0.11

0.12(0.13(0.13/0.12|0.13|0.13]| 0.12] 0.13| 0.13(0.12(0.14{ 0.13| 0.121 0.15/ 0.13] 0.13| 0.15( 0.13( 0.12( 0.16( 0.13| 0.13] 0.16 0.14| 0.11{ 0.12

0.09( — (0.10/009| — |0.10|0.09| — [0.10(0.10f — [0.10|0.10)| — |0.10|0.10|f — [(0.10(0.10f — |0.10|0.10| — |0.10|0.07( —

0.10(0.09(0.12|0.10{ 0.09(0.12| 0.10| 0.09( 0.12( 0.10| 0.09| 0.12( 0.10( 0.09| 0.12| 0.10( 0.09| 0.12| 0.10( 0.09 | 0.12| 0.11] 0.09 [ 0.12 > | X

0.16(0.16/0.18| 0.16| 0.16 [ 0.20| 0.16 | 0.16 ( 0.20 0.17| 0.16 | 0.20( 0.17| 0.16| 0.20| 0.17 [ 0.16| 0.22| 0.17[ 0.16 | 0.22| > | > [ X [0.16]0.13

012( — (0.12|0.12| — |0.12]|012| — [0.12|(0.12( — [0.12|0.13] — |0.12]0.13| — [0.12(0.13| — |0.12|0.13| — |0.12]|0.09( —

0.10(0.10(0.10/0.10| 0.10| 0.10| 0.10| 0.10| 0.10( 0.10( 0.10( 0.10| 0.10]| 0.10| 0.10] 0.10| 0.10( 0.10( 0.10( 0.10{ 0.10| 0.11] 0.10] 0.10| 0.07 | 0.07

0.13(0.11(0.12|0.13|0.11|0.12|0.13| 0.11| 0.12(0.13(0.11{ 0.12| 0.13| 0.11| 0.12| 0.13| 0.11{ 0.12( 0.13{ 0.11[ 0.12| 0.13| 0.12] 0.12] 0.11 | 0.08

0.11(0.10(0.09/0.11|0.10|0.09|0.11] 0.10{ 0.09( 0.11(0.10( 0.09/ 0.11| 0.10| 0.09] 0.11] 0.10( 0.09( 0.12( 0.10{ 0.09| 0.12]| 0.10] 0.09 | 0.08 | 0.08

013( — (0.18|0.13| — |0.18|0.13| — [0.18(0.13( — [0.18|0.13| — |0.19]0.13| — [(0.20(0.13| — |0.19]0.13| — |0.20|0.10( —
019( — (0.21|0.19| — |021]|019| — [0.21(0.19( — [0.22|0.19] — |0.22]|0.19| — [0.23(0.20 — |0.23|0.20| — |0.23|0.16 —
011 — (017|011 — |017|011| — [0.17|012( — [0.17|0.12) — |0.17]|012| — [0.17(0.12| — |0.17|0.13| — |0.17|0.12( —
028( — (0.19|/0.28| — |0.19|028| — [0.19(0.28( — [0.19|/029| — |0.19]0.28| — [(0.20({0.29| — |0.20|/0.30| — |0.22|0.32( —
0.14( — (0.16|0.14| — |0.16|0.14| — [0.16(0.14( — |0.16|0.14| — |0.16|0.14| — [(0.16(0.14| — |0.16|0.15| — |0.16|0.11| —
013( — (0.12|0.13| — |0.12|0.13| — [0.13(0.13( — [0.13|0.13] — |0.13]|0.13| — [(0.13(0.14| — |0.13|0.13| — |0.13|0.11| —
013( — (0.12|0.13| — |0.12]0.13| — [0.12(0.13| — [0.12|0.13| — |0.12]0.13| — [0.13(0.13| — |0.13|0.13| — |0.13|0.12( —
013( — (0.13|0.13| — |0.13|0.13| — [0.13(0.13( — [0.13|0.13] — |0.13]|0.13| — [0.13(0.13| — |0.12|0.14] — |0.13|0.13 —
011 — (011|011 — 011|011} — (011|011 — [0.11|011) — |O11]011| — [O11|0O11| — |0.11)0.12] — |0.11]|0.10( —
0.10( — (0.11|0.10| — |0.11}0.10| — [0.11f0.10f — [0.11|0.10)| — |0.11]0.10| — [O0.11|{0.10f — |0.12|0.11| — |0.12|0.10( —

0.15(0.15|0.160.15| 0.15| 0.16( 0.15( 0.15] 0.16 | 0.15) 0.15| 0.16 [ 0.15( 0.15] 0.16 | 0.15| 0.15| 0.16 [ 0.15( 0.15] 0.16 | 0.17| 0.15| 0.16 | 0.15( 0.12

0.16( — |0.12)0.16| — |0.12(0.16( — |0.12]0.17| — |0.12|0.17| — (0.12]0.15| — |0.12|0.17| — [0.12{0.16|] — |0.12|0.16| —

0.18(0.12|0.160.18| 0.12| 0.16( 0.18( 0.12| 0.16 0.18| 0.12| 0.16( 0.18( 0.12] 0.16| 0.18| 0.12| 0.16 [ 0.18 | 0.12] 0.16 | 0.19| 0.12| 0.16 ( 0.19 | 0.10

011 — (012011} — |0.12(011( — |0.12]0.11} — |0.12|0.12( — (0.12]0.12] — |0.12|0.11| — [0.12{0.11] — |0.12|0.10| —

0.15(0.12|0.14|0.15|/0.12| 0.14( 0.15( 0.12]| 0.14] 0.15| 0.12| 0.14( 0.15( 0.12]| 0.14] 0.15| 0.12| 0.14( 0.15( 0.13| 0.14] 0.15| 0.13| 0.14 | 0.15( 0.10

0.11(0.10(0.12|0.11|0.10|0.12| 0.11] 0.10| 0.12( 0.11(0.10(0.12| 0.11| 0.11] 0.12| 0.11] 0.11| 0.12( 0.11[0.10[( 0.12| 0.12| 0.11]| 0.12] X | %

013( — |0.12)0.13| — |0.12{0.13( — [0.12]0.13) — |0.12|0.13| — (0.12]0.13] — |0.12|0.13| — [0.12{0.13] — |0.13|0.10| —

0.11(0.100.12|0.11|0.10|0.12(0.11| 0.10| 0.12|0.11) 0.10| 0.12( 0.11( 0.10| 0.12] 0.11) 0.10| 0.12( 0.11{ 0.10] 0.12] 0.12| 0.11| 0.12 | 0.09 | 0.10

0.12(0.09]0.09|0.12|0.09/0.09(0.12( 0.09| 0.09]0.12| 0.09| 0.09(0.12( 0.09| 0.09] 0.12| 0.10/ 0.09( 0.12( 0.10| 0.09] 0.12| 0.10| 0.09 | 0.11 | 0.08

011{ — 011011} —|0.11f{011f — |(0.11}011} — |0O.11|011|( — (0O.11]011} — |0.11|011| — [0.11]{0.12] — |0.11|0.09| —

0.19( — |0.16|0.19| — |0.16(0.19( — [0.16]0.19| — |0.16|0.19( — (0.16]/0.19| — |0.16|0.20| — [0.16{0.21| — |0.17|0.16| —

XNo.5 BRFBEEYIM  No.d-26 BREE
HIEFOAMNES HHEIEHTD:
" x|



FRL28%F

K) 1A6B0K) 12R78(A) 11A6B((H) 10A58(A) 9A7E(A) 8ATH(H) 7A68(A) 6 H3H (XK) 58
pid =3 b= =) iy iy iy iy i R
(TSv|iemE| B15 |(T5U[lecmB| 815 (TS5 |1emE| B8 |(T5U[lecmB| 815 (TS5 |1omE| B8 |(T5U|lecmB| 815 (TS5 |1omE| B15 |(T5U|lecmB| 815 (TS5 |1cmE
a%) a2%) a2%) 2%) 2%) 2%) 2%) 2%) %)
0.09|0.11(0.13|0.11(0.11]0.13(0.11)0.11{0.13|0.11{ 0.11] 0.13|0.11| 0.11{ 0.13| 0.11{ 0.11| 0.13| 0.11|0.11] 0.13[/0.11] 0.11| 0.13] 0.11 | 0.11
0.13] x [0.17]0.13(0.12|0.18(0.14| 0.12( 0.18| 0.14( 0.121 0.19( 0.14]| 0.12( 0.18| 0.14( 0.121 0.18( 0.14]| 0.12( 0.19]| 0.14( 0.12| 0.19( 0.14] 0.12
0.09|0.10( — |0.10(0.10| — |0.10)0.10 ( — |0.10 (0.10| — |0.10|0.10 | — |0.10 ({0.10 | — |0.11 |0.10 | — [0.11 |0.10 | — |0.11 [0.12
% 10.11/0.09(0.12|0.11|0.09(0.12|0.11|0.09 | 0.12( 0.11]0.09 | 0.13(0.11]0.09 | 0.13| 0.11{0.09 | 0.13| 0.11 {0.09 | 0.13| 0.11[0.09 [ 0.13] 0.12
0.2110.17(0.16]0.23(0.17)| 0.16 0.23)0.17 {0.16 |0.23 [0.18 |0.16 {0.23 |0.17 [0.16 |0.23 [0.17 |0.16 |0.23 [0.17 |0.16 [0.24 |0.17 |0.16 |0.24 [0.17
0.12y0.13( — |0.13(0.13| — [0.13}0.13( — |0.13(0.13| — [0.13]0.13( — |0.13(0.13| — (0.13|0.13( — |0.13{0.13| — [0.13]|0.13
0.09]0.10(0.09]|0.11(0.10] 0.09( 0.11]0.10 {0.09 |0.11 {0.10 |0.09 |0.11 |0.10 {0.09 |0.11 {0.10 |0.09 |0.11 |0.10 |0.09 [0.10 |0.10 [0.09 |0.10 [0.10
0.11]0.13(0.11]0.13(0.13|0.11(0.13 0.13( 0.11] 0.13( 0.13] 0.11 [ 0.13] 0.13( 0.11 0.13( 0.13] 0.11( 0.13| 0.13( 0.11] 0.13{ 0.13| 0.11{ 0.13] 0.13
0.08]0.13(0.11]0.10(0.13|0.11(0.10 0.13( 0.11]0.10 { 0.13] 0.11 ({0.10 | 0.13( 0.11]0.10 { 0.13 0.11 {0.10 | 0.13{ 0.11]0.10 { 0.13| 0.11{0.10 | 0.13
0.17)0.13( — |0.21(0.13| — [0.21|0.14( — |0.21(0.14| — [0.22|0.14( — | 0.22(0.14| — (0.22|0.14( — |0.22(0.14| — [0.23|0.14
0.20|0.20( — |0.23(0.21| — [0.24|0.21 — |0.24(0.22| — [0.24|0.22( — | 0.24(0.22| — (0.24|0.22( — | 0.24(0.22| — [0.24]|0.22
0.15)0.13( — |0.17(0.13| — [0.17)0.12( — |0.17|(0.12| — [0.17|0.12( — |0.17({0.12| — (0.17|0.12( — |0.17{0.12| — [0.17]0.12
0.20|0.35( — |0.22(035| — [0.22|0.35( — |0.22(0.35| — [0.22|0.35( — |0.22(0.35| — (0.22|0.35( — |0.22(0.35| — [0.22]|0.35
0.15|0.14( — |0.17|(0.14| — (0.17|0.14( — |0.18(0.14| — [0.18|0.14( — |0.17(0.14| — (0.17|0.14[ — |0.17(0.14| — [0.17|0.14
0.12)0.14( — |0.14(0.14| — [(0.14|0.14( — |0.14(0.14| — [0.14|0.14( — |0.14(0.14| — (0.14|0.14( — |0.14(0.14| — [0.14|0.14
0.11)0.13( — |0.13(0.13| — (0.13|0.13( — |0.13(0.13| — [0.13|0.14( — |0.13(0.14| — (0.14|0.14( — | 0.14(0.14| — [0.14|0.14
0.12)0.13( — |0.13(0.13| — [(0.13|0.13( — |0.13(0.14| — [0.13|0.14( — |0.14(0.14| — (0.14|0.14( — | 0.14(0.14| — [0.14|0.14
011)011f — J0.12(011| — [(0.12)0.11| — |0.13f(0.11| — [0.12]0.12( — |0.13(0.12| — (0.13]|0.12( — |0.13{0.12| — [0.13]0.12
0.11)0.10( — |0.12(0.11| — [0.13}|0.11 [ — |0.13(0.11| — [0.13]|0.11 [ — |0.13{0.11 | — [0.13]|0.11 [ — |0.13{0.11 | — [0.13]0.11
0.16]0.15(0.15/0.19( 0.15| 0.15( 0.19] 0.15( 0.15| 0.19( 0.15] 0.15[ 0.19] 0.15( 0.15| 0.19( 0.15] 0.15( 0.19] 0.15( 0.15]| 0.19( 0.15]| 0.15[ 0.19] 0.15
0.13)0.18( — |0.14(0.18| — [0.14|0.18( — |0.14(0.18| — [0.14|0.18( — | 0.14(0.24| — (0.14|0.25( — | 0.15(0.25| — [0.15]|0.25
0.16]0.19(0.12]0.17(0.19) 0.12( 0.17)0.19 (0.12 |0.17 [0.19 |0.12 [0.17 | 0.19 [0.13 | 0.18 [0.19 |0.13 |0.18 |0.19 |0.13 |[0.17 |0.19 |0.13 |0.17 [0.19
0.13)0.12( — |0.14(0.12| — [0.14)0.12( — |0.14(0.12| — [0.14|0.13( — |0.14(0.13| — (0.14|0.13( — | 0.14{0.13| — [0.14]|0.13
0.14]10.15(0.13|0.14( 0.15| 0.13[ 0.15] 0.15( 0.13] 0.15( 0.15] 0.13[ 0.15]| 0.15( 0.13| 0.16 [ 0.15] 0.13( 0.15]| 0.15( 0.13| 0.15( 0.15]| 0.13| 0.15] 0.15
% [0.12|0.11|0.13|0.12|0.11]0.13|0.12(0.11(0.13(0.12| 0.11]| 0.13| 0.12| 0.11] 0.13| 0.12( 0.11{0.13(0.12| 0.11| 0.13]| 0.12] 0.11| 0.13| 0.12
0.12)0.11| — |o0.13f(011| — (0.13)0.11| — |0.13f(0.11| — |0.13|0.11| — |0.13|0.11| — |0.14|0.11| — [0.13]|0.11| — |0.14|0.11
0.100.12(0.11]0.13(0.12|0.11|0.13]0.12( 0.11] 0.13( 0.12] 0.11| 0.13] 0.12( 0.11] 0.13( 0.12] 0.11{ 0.13]| 0.12( 0.11] 0.13{ 0.12| 0.11{ 0.13] 0.12
0.10]0.12(0.10|0.10(0.12]| 0.10( 0.10] 0.12(0.10 |0.10 [ 0.12]0.10 [0.10 | 0.12(0.10 |0.10 [ 0.12]0.10 {0.10 | 0.12(0.10 |0.10 [ 0.12]|0.10 {0.10 | 0.12
0.10y0.12( — |0.12|(0.12| — [0.12)0.12( — |0.12|(0.12| — [0.12]0.12( — |0.12(0.12| — (0.12|0.12( — |0.12{0.12| — [0.12]|0.12
0.16|0.21( — |o0.18f(0.21| — [0.18|0.22( — |0.18(0.22| — [0.18|0.22( — |0.19(0.22| — (0.19]|0.22( — |0.18(0.22| — [0.18]0.22
BI] idha2 Ton IOl 2 BAERLCLT
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11B(A) 4A8H () 3848 (K)

pid=3 e e
Big (T2 |1emE| BI5 ((T52]|1cmB| B |(T5Y
%) %) %)

0.14(0.11(0.11/0.13|0.11]0.11] 0.14| 0.11

0.19(0.14(0.12|{0.19/ 0.14) 0.12| 0.19] 0.15

— 10.11]0.10 | — |0.11 |0.10 [ — ([0.11

0.09 10.13]0.11]0.09 {0.13(0.12(0.10 | 0.13

0.16 |10.24 |0.17 |0.16 |0.24 (0.17 [0.16 [0.24

— (0.13]0.13| — |0.13]|032| — [0.24

0.09 |10.10 |0.10 {0.09 (0.11 {0.10 [0.09 | 0.11

0.11(0.13(0.13(0.12/0.12| 0.13| 0.12] 0.13

0.11{0.10 ({0.13|0.11]0.10 | 0.13] 0.11]0.10

— (0.23|0.14| — | 023|015 — [0.24
NS NNEN
— (024|022 — | 024|022 — [0.24
— (017|012 — | 017|012 — [0.17
— 1022|1035 — | 022|035 — [0.22
— |0.18|0.14| — |0.18]|0.15| — [0.15
— | 0.14|0.14| — |0.14]|0.14| — [0.14
— | 0.14|0.14| — |0.13]|0.15| — [0.14
— | 0.14|0.14| — |0.13]|0.14| — [0.14
— |0.13]0.12| — |0.13]0.13| — [0.13
— (0.13]0.12| — |0.13]|0.11 | — [0.14

0.15(0.19]0.15|0.15|0.19| 0.15( 0.16 [ 0.18

— 015|025 — |0.15|0.28| — [0.15

0.130.17 |0.19 (0.13 [0.17 |0.19 |0.13 |0.17

— | 0.14(0.13[ — [0.14]0.13| — |0.14

0.13(0.15]0.15|0.13|0.14| 0.15( 0.14( 0.15

0.11(0.13{0.12|0.11]0.13| 0.12| 0.12( 0.13

— | 0.14(011[ — [0.13]0.11| — |0.14

0.11(0.13]0.12|0.11]0.13|0.12| 0.11 [ 0.13

0.10)0.10 {0.12(0.10 (0.10 | 0.11]0.10 |0.10

— 1012|012 — [0.12]0.12| — |0.12

— | 0.18(0.22( — [0.18]0.22| — |0.19
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2848 (K) 1878 0K) 12A5H (%) 11A78 (%) 10888 (K) 9A3H (K) 8A6H (k) 7R108 (K)

iy iy iy iy iy iy pli=) pli=)
TemE| B8 (TS50 [1emBE| B (TS |1emE| B8 (TS5 [lecmB| 815 (TS5 |1emE| BB |(T5U|lecmB| Bi5 (TS5 |1omE| B |(T5U|lemB| Bi5 ((T5>

2%) a2%) 2%) 2%) 2%) 2%) 2%) 2%)
0.11)0.13(0.11|0.11(0.13|0.110.11| 0.14( 0.11| 0.11{ 0.14| 0.11| 0.11| 0.14{ 0.11| 0.11| 0.14| 0.11] 0.11| 0.14] 0.12| 0.12] 0.12 0.11
0.1210.19(0.14]0.13(0.19 | 0.14( 0.130.20 [ 0.14] 0.13( 0.21) 0.14( 0.13]| 0.21( 0.14) 0.13( 0.21| 0.14{ 0.13| 0.21{ 0.15]| 0.13( 0.23| 0.14
009 —|0.11(0.10| — (0.11)0.10( — |0.11|0.10| — (011|010 — |0.11{0.10| — |0.11|0.10| — |0.12]0.09| — |0.12
0.11]0.09(0.13|0.11(0.10 | 0.13 0.11]0.10 { 0.13] 0.11 (0.10 | 0.13| 0.11]0.10 { 0.13] 0.11{0.13 | 0.13( 0.12]|0.10 { 0.13]| 0.12(0.10 | 0.13
0.17 [0.16 |0.25 (0.19 | 0.18( 0.25]0.19 [ 0.18 0.25(0.19 | 0.18( 0.25|0.19 | 0.18| 0.25(0.20 | 0.18| 0.25| 0.19| 0.18| 0.26 | 0.18| 0.18 | 0.25
031 — (022|033 — |0.24(033| — [(0.24|0.34( — |0.24(0.34| — [(0.25|/0.34( — |0.25(0.37| — [(0.26]|0.33( — | 0.25
0.10 (0.09 |0.10 (0.11 |0.10 (0.11]0.12 [0.10 | 0.11|0.12 |0.10 { 0.11]0.12 [{0.10 | 0.11{0.12 |0.10 | 0.110.10 {0.11 | 0.12] 0.12|0.10 | 0.12
0.13]0.11(0.12]0.13(0.12]0.13( 0.13] 0.12( 0.13] 0.13( 0.12| 0.13[ 0.13] 0.12( 0.13] 0.13( 0.12| 0.13( 0.13| 0.13( 0.13| 0.14( 0.12] 0.13
0.11)0.11(0.10 | 0.13(0.12) 0.11{0.13| 0.12( 0.11 0.13| 0.12| 0.11| 0.13| 0.12{ 0.11| 0.13| 0.12| 0.11] 0.13| 0.12| 0.11| 0.13] 0.11 | 0.11
0.14| — [0.22]|0.15( — |0.25(0.16| — [0.25|0.16( — |0.25(0.16| — [0.25|0.16( — |0.25(0.16| — (0.27|0.18( — | 0.27
022| — (024|023 — |0.26(0.23| — [(0.26|0.23( — |0.26(0.25| — [0.26|0.25( — |0.26(0.28| — (0.28|0.26( — | 0.25
012| — (o0.18|0.12( — |0.18(0.12| — (0.18|0.12( — |0.18(0.12| — (0.18)0.12( — |0.18(0.12| — (0.18|0.12( — | 0.19
036| — [0.21]0.38( — |0.23(0.39| — (0.23|0.39( — |0.23(0.39| — (0.23|0.39( — |0.23({0.39| — [(0.24|0.39( — | 0.24
013 — [(0.17]0.15( — |0.18(0.15| — [0.18|0.15( — |0.18(0.15| — [0.18|0.14( — |0.18(0.16| — [(0.19]|0.16( — | 0.18
0.13| — [0.14]0.15( — |0.15(0.15| — [0.15]0.15( — |0.15(0.15| — [0.15)0.15( — |0.16(0.14| — [(0.16|0.16( — | 0.15
013| — [(0.13|0.14( — |0.14(0.14| — (0.14|0.14( — |0.14(0.14| — [(0.14|0.14( — |0.15(0.14| — (0.15|0.14( — | 0.16
0.14| — [(0.13|0.14( — |0.14(0.14| — (0.14|0.14( — |0.14(0.14| — (0.14|0.14( — | 0.14(0.15| — [0.15|0.14[ — | 0.14
012| — (0.13]0.12( — |0.14(0.12| — (0.14|0.12( — |0.14|(0.12| — [(0.14|0.12( — |0.14(0.13| — [(0.15|0.13[ — | 0.15
010 — |0.14(0.13| — (0.14|0.12( — |0.14|{0.12| — [0.14|0.12| — |0.14|0.12| — |0.14/0.13| — |0.14]|0.13| — |0.14
0.1510.15(0.18|0.16 0.16 0.19( 0.16| 0.16 [ 0.19] 0.16 [ 0.16| 0.19( 0.16| 0.16 [ 0.19] 0.16( 0.16 | 0.19( 0.16| 0.17( 0.18| 0.17( 0.16 | 0.19
017| — [(0.15|0.28( — |0.15(0.27| — [(0.15|0.28( — |0.15(0.28| — [0.16]|0.27( — |0.16(0.27| — [(0.15|0.28( — | 0.16
0.19 (0.130.17 (0.19 | 0.13( 0.17]0.19 [ 0.13] 0.17(0.19 | 0.13{ 0.17|0.19 | 0.13| 0.17|0.19 | 0.13| 0.17|0.20 | 0.14| 0.18| 0.21| 0.14| 0.18
0.13| — [(0.14|0.13( — |0.14(0.13| — [0.14|0.13( — |0.14(0.13| — [(0.14]0.13( — |0.14(0.12| — [(0.15|0.13[ — | 0.15
0.1510.13(0.15/0.15( 0.13] 0.15( 0.15| 0.13( 0.15]| 0.15( 0.13] 0.15( 0.15]| 0.13[ 0.15] 0.15( 0.13| 0.15( 0.16 | 0.14( 0.17]| 0.16 0.15] 0.17
0.1210.11(0.13]0.13(0.12|0.13( 0.13| 0.12( 0.13] 0.13( 0.12] 0.13( 0.13]| 0.12( 0.13] 0.13( 0.12| 0.13( 0.12| 0.11{ 0.13| 0.12( 0.11| 0.14
011| — [(0.14)0.11( — |0.14(0.11| — (0.14|0.11| — |0.14(0.11| — [(0.14)0.11( — |0.14{0.11| — [0.14|0.12( — | 0.14
0.11)0.11(0.14|0.12(0.11] 0.14(0.12| 0.11( 0.14] 0.12( 0.11]| 0.14( 0.12] 0.11{ 0.14]) 0.12( 0.11| 0.14( 0.13] 0.12( 0.15]| 0.12( 0.12] 0.13
0.12)0.11 (0.10 | 0.12(0.11 |0.10 [ 0.12]0.11 {0.10 | 0.12|0.11 |0.10 | 0.12]|0.11 |0.10 | 0.12|0.11 |0.10 | 0.12|0.10 |0.11 [ 0.11]0.10 [0.10
012| — (0.12)0.12( — |0.12|(0.12| — [0.12]0.12( — |0.12|(0.12| — [0.12]0.12( — |0.12({0.13| — (0.13]|0.14( — | 0.13
0.22| — (0.18|0.23( — |0.20 (0.23| — (0.20|0.23| — |0.20 | 0.24| — |0.20 | 0.24| — |0.21 |0.27| — |0.20 [0.24| — |[0.20
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FRE264F

6848 (/) 5ABAR) 4A9A0K) 3A6E(K) 2858 (K)  |Freesimsaco| 12A4B OO T gm0
12868 (&) (F)

TomE| Bi5 gfb tom| Bi% gf& tom| Bi% <5’Iﬁé%/ Tom| Bi% <5’Iﬁé%/ Tom| B15 éﬁi Tom| B8 éﬁi Tom| B15 éﬁi Toms| 818 éﬁi
%) %) %) %) %) %) %) %)
0.12]015|0.12{0.11]|0.16|0.12|0.12|0.15{0.11]|0.11|0.12| 0.11| 0.12| 0.18] 0.11 | 0.12] 0.17| 0.12| 0.13] 0.18 [ 0.13] 0.12| 0.13| 0.13
0.13[0.24 | 0.16{0.14]|0.24 [0.17] 0.13|0.21 [ 0.18] 0.14[0.20 | 0.18| 0.14| 0.21]| 0.18 [ 0.13] 0.20| 0.19| 0.13] 0.18 [ 0.21] 0.13| 0.17]| 0.18
011 — |o12{011| — [013]011| — [012]009| — |012]|0.11| — |0.13|0.11| — |0.13[0.11| — |0.14|0.12| — [0.14
0.12[0.10|0.13[0.12]0.11 [0.13] 0.12]|0.12 [ 0.13] 0.12|0.10 | 0.13| 0.13[ 0.10] 0.15| 0.13| 0.10]| 0.14| 0.13] 0.12| 0.18| 0.13| 0.1 | 0.14
0.19 |0.18 [ 0.28(0.20 |0.21 [ 0.28]0.20 [0.20 | 0.27| 0.21 [0.20 | 0.27 [0.21 {0.19 | 0.29{0.20 |0.20 [ 0.29| 0.22| 0.22| 0.32| 0.16 | 0.18| 0.30
037| — [0.27]038| — [0.27]032| — [0.27]|032| — |027|034| — |0.29 [0.36| — [0.30 [0.40 | — [0.32]|0.36| — |0.32
011]011]|0.12{0.12]|0.12|0.13|0.12|0.12|0.12| 0.08[0.11|0.14| 0.11|0.12]| 0.12[0.13] 0.12| 0.13| 0.12] 0.13| 0.14] 0.13| 0.13| 0.13
0.14[0.12]|0.14[0.15|0.12|0.14| 0.13| 0.12|0.14] 0.13| 0.13| 0.14]| 0.14| 0.15] 0.16 | 0.15| 0.15| 0.15| 0.16 | 0.15| 0.15| 0.14| 0.15 | 0.14
0.14[012]|0.12[0.14|0.12|0.12|0.15|0.13[0.11]0.11|0.11|0.11]|0.14[0.11] 0.13| 0.14| 0.13| 0.13| 0.15]| 0.12| 0.14| 0.14| 0.14 | 0.14
017| — |028[017| — [028]0.17| — [0.29]|0.17| — |029]|0.18] — |0.32[0.17| — |0.32|0.19| — [0.32]0.18| — |0.32
028 | — [0.28 (028 | — [0.28]030| — [0.29|0.31| — |030|0.31| — |0.30 [0.31| — [0.32]032| — [0.34]|032| — |0.32
013| — [0.19|0.14| — [0.20]0.13| — [0.20|0.14| — 020 |0.13| — |0.20 [0.14| — [0.21|0.16| — [0.22]|0.16| — |0.18
039 — [0.26 (039 | — [0.28 041 | — |0.26 |0.41| — | 027|041 | — |0.26{040| — [0.27]040| — [0.28]|0.41| — |0.35
016 | — [0.19|0.16 | — [0.20 |0.16 | — |0.18 | 0.14| — |0.18|0.17| — |0.20 [0.18| — [0.20|0.18| — [0.22]|0.15| — |0.18
016 | — [0.16 [0.17| — [0.17]0.16 | — |0.17|0.12| — |0.16|0.15| — |0.17{0.16| — [0.17]|0.17| — [0.20|0.17| — |0.17
016 | — [0.16 [0.17| — [0.17|0.16 | — |0.17|0.16] — |0.18|0.15| — |0.17{0.15| — [0.17]|0.17| — [0.18]0.17| — |0.19
015| — [0.17|0.15| — [0.17]0.15| — |0.15]|0.15] — |0.15|0.16| — |0.16{0.16] — [0.16]0.17| — [0.18]|0.15| — |0.19
014| — |0.16 [0.15| — [0.16 |0.14| — |0.16 | 0.14| — |0.16|0.13| — |0.17{0.14| — [0.18|0.15| — [0.18]0.17| — |0.19
013| — [0.16 |0.13 | — |0.17 |0.13 | — |0.15 [0.14| — |0.15] 0.13| — | 0.16/ 0.14| — | 0.18| 0.15| — |0.20 | 0.17| — | 0.22
0.17 |0.16 [0.21 [0.18 |0.17 [0.22 |0.18 |0.17 |0.21 | 0.18 | 0.15]| 0.21 | 0.19| 0.18| 0.22 | 0.18| 0.18 | 0.22| 0.18 | 0.18 [ 0.23| 0.19 | 0.18 | 0.22
028 | — [0.16 (029 | — [0.16|0.31 | — |0.18|0.30 | — |0.19|0.29| — |0.19 [0.29| — [0.20|032| — [0.21]|029| — |0.22
0.22 |0.14 [0.19 [0.23 |0.14 [0.19 |0.24 |0.15 |0.18 | 0.23| 0.15] 0.18 | 0.24| 0.14|0.19 [ 0.22| 0.15|0.20 | 0.22| 0.15| 0.21| 0.18 | 0.18 | 0.21
013| — [0.15]0.13| — [0.14|0.13| — |0.15]|0.12| — |0.16|0.13| — |0.17{0.13| — [0.16]|0.14| — [0.17]|0.14| — |0.16
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